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NetAC1 LR BRI 5
NetFW1 FW1 REFRE MK 4
NetFwW2 FW2 2B E Y] 1
NetRT1 RT1 & FHECE AL 5
NetRT2 RT2 B&EHECE AL 5
NetSW1 SW1 THRECE AT 3.5
NetSW2 SW2 STHECE A Ih 34
NetSW3 SW3 HRECE AT 3.1
R2 R2 £ IP FIESEHHEC B AT 5
linux1 linux1 _E3F DNS. ansible. http JREECE TN 1
linux2 linux2 %8B DNS. nginx. kdc B2 &I 1
linux3 linux3 _t nfs-server. tomcat. samba EC& B/ 1
linux4 linux4 | nfs-client. tomcat BC& B/ 1
linux5 linux5 _F k8s-contro B2 & A 1
linux6 linux6 _E k8s-node B & %N 1
linux7 linux7 _E k8s-node B & F% N 1
linux8 linux8 _t iscsi-server B & YL 1
linux9 linux9 _E iscsi-client B2 & A% IH 1
linux9kernel | linux9 _E NAZFHRECE B 0 5
linuxpcl pcl ZES5EHEEMIN 5
linuxpc2 pc2 B&ESEREL BN 5
linuxserverl =¥ B ERID 5
linuxserver2 | server2 %33 81 & REFLALTH 6
windows1 windowsl & #5885 A RIS EL & A IH 2
windows2 windows2 & iEBIgI=H 22 AL B AT 1

. windows3 %% DFS & =8, ASP ¥ mECE AY

windows3 T 1
windows4 windows4 2 3EFTENBR S EC & AL TN 1
windows5 windows5 2% NLB RS BCE AT 1
windows6 windows6 2% NLB RS BCE AN 1
windows7 windows7 &% iscsi-server RSB & B TN 1
windows8 windows8 &3t SR B AT 1
windows9 windows9 &R EMERETS . XHRSEEMY 1
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